MTB|_catalogue2004_revl 13/9/04 4:08 pm Page 1

“nothing short of a revolution”
MBUK

“if you replace your hydraulic lines, use these”
.What Mountain Bike

“Goodridge makes the best brakehose period”

.What Mountain Review

“Get yours today and be prepared to be astounded”

.Transcend Magazine -

“Do yourself a favor, pick up some Goodridge lines” - 4%;
.nsmb.com H
GEOORRIDGEE
www.goodridge.net
High Performance Fluid Transfer Systems
GOODRIDGE (UK) LIMITED  Silverstone Goodridge (USA) Inc Mooresville Indianapolis
Group Headquarters Unit 35, Silverstone Torrance 155 Rolling Hill Road, 109 Gasollne Alley, &
Exeter Airport, Circuit, Towcester, 529 VAN NESS AVENUE, Mooresville, Suite B, Indianapolis,
Exeter, EX5 2UP, England. Northants, Torrance, CA 90501, USA  NC 28117, USA IN 46222, USA
T.+44 (0)1392 369090 NN12 8TN, England T+1 (310) 533 1924 T.+1 (704) 662 9095 T.+1 (317) 244 1000
F+44 (0)1392 441780 T.+44 (0)1327 858799 F.+1 (310) 618 0909 F+1 (704) 662 9094 F+1(317) 244 1011
uksales@goodridge.net F.+44 (0)1327 858750 ussales@goodridge.net
Goodridge (France) Sarl Goodridge (Deutschland) Goodridge (Benelux) BV~ Goodridge (Espana) SL  Goodridge (Japan) Ltd
Za Les Pres d' Andy, TALSTRASSE 227, D-67434  Voltaweg 6, Av. Dr. Waksman, 26-4 Yoga 2-Chome,
77950 St Germain Laxis, Neustadt, Mussbach, 2627 BB, Delft, 52 Bajo Der, Setagaya-Ku,
France Germany Nederland 46013 Valencia, Spain ~ Tokyo 158, Japan
T+33 (1) 64 38 44 44 T.+49 (6) 321 60 168 T+31 (15) 256 5232 T.+34 (96) 3355306 T.+81 (3) 5716 4795
F.+33 (1) 60 68 96 74 T.+49 (6) 321 600 002 F+31 (15) 262 4717 F.+34 (96) 3355304 F.+81 (3) 5716 3731

F.+49 (6) 321 60 435




MTB|_catalogue2004_revl 13/9/04 4:08 pm Page 2

HIGH PERFORMANCE MOUNTAIN BIKE

BRAKELINES
CATALOGUE

o004




MTB|_catalogue2004_revl 13/9/04 4:08 pm Page 3 $

CONTENTS

Goodridge Hydraulic Brakeline Kits

Hydraulic Brakeline Kits - contents

Hydraulic Brake Hose and Fittings

Hydraulic Brakeline Dealer Kits

General Fitting Instructions




MTB|_catalogue2004_revl 13/9/04 4:08 pm Page 4 $

Goodridge Hydraulic Brakeline Kits

Goodridge Hydraulic Brakeline Kits

The unique Goodridge fitting design allows you to self
assemble and fit the brakelines to suit your bike. The
patented tailform design requires no olive and is fully

reusable.

Goodridge PTFE brakeline hose, developed from
motor racing, is extremely flexible and tough. With
zero expansion, even under heavy braking, 100%
of the pressure at the lever is transformed into
stopping power at the caliper.

The hose is available in a range of translucent
coloured coverings, providing protection to
the frame, and fantastic style.

Fittings are available in both downhill spec
stainless steel, or anodised aluminium.



MTB|_catalogue2004_revl 13/9/04 4:08 pm Page 5

—p—

Hydraulic Brakeline Kits

Hydraulic Brakeline Kits - contents

PART No. SUFFIX LIST

Example PART No. inc suffix
MTB101-1FDR-BU
(101 kit front line, red alloy fittings, blue hose)

BRAKE SYSTEM' PART No.(inc hose) PART No.(connectors only)  LEVER FITTINGS HOSE CALIPER FITTINGS

MTB101-

(1) Callper Fitting Choice Suffix

Hope C2 /| Grimeca Sys 8 / SRAM 9.0 /
Formula B4 [ Giant MPH3

(+ suffix 1,2,3)

MTBK-101C / D
(stainless / alloy)

E":—:w"_ _,Jm:ﬁ\ﬁ

$ ' Front Caliper
. . - MTB102- MTBK-102C / D
SIS = -1FC Hope Mini / Hope M4 / Hope Mono 6 (+ suffix 1,2,3) (stainless / alloy) @:_ m j \‘
; Alloy = -1FD 2, —_—
» Rear Caliper
j SIS =-1RC Magura Louise, Clara, Marta, Julie / MTB103- MTBK-103C / D TEm——
? Alloy = -1RD Hayes G2 + HFX9 Lever (+ suffix 1,2,3) (stainless / alloy) e — =,-'

@ Alloy Fitting Colour Suffix

@ Hose Colour Suffix

Red

suffix = RD
Blue

suffix = BU
Carbon Look
suffix = CB
Clear Printed
suffix = CLG

Shimano 525 (Deore Lever) /

MTB104-

MTBK-104C / D

Anodised Red Magura HS33 Rim brake (+ suffix 1,2,3) (stainless / alloy)

suffix = R

Anodised Blue 4

‘ _ i} MTBK-105C / D = — -

@ suffix = B Hayes G1 caliper + HFX-Mag lever MTEJQC& 12.3) (stainless / alloy) & —— _— = )

Anodised Black

suffix = K

Anodised Gold i _ MTB106- MTBK-106C / D 1:____ | — ppmm———— &
@ Sunfc]:ixls: . 0 Hayes G2 caliper + HFX-Mag lever (s suffix 1.2.3) (stainless / alloy) by s v -
© Anodised Silver . ay

suffix = C All Shimano XT / XTR / Saint MTB107- MTBK-107C / D o — @

(except 525 Deore) (+ suffix 1,2,3) (stainless / alloy) ~ - —_— g

Clarks Clim 8, Magura Gustav

MTB108-
(+ suffix 1,2,3)

MTBK-108C / D
(stainless / alloy)

Avid Juicy
(N.B. Use original bolt)

N.B. All lines supplied with clear printed hose and stainless fittings unless stated otherwise.

MTB109-
(+ suffix 1,2,3)

MTBK-109C / D
(stainless / alloy)

o



MTB|_catalogue2004_revl 13/9/04

4:08 pm Page 6

—p—

Hydraulic Brakeline Kits - contents Hydraulic Brakeline Kits

DESCRIPTION USAGE PART No.
Hose/ Red/Blue/ Carboline [ Clear All systems 600-02RD/BU/CB/CL
Sleeve collar All systems R_600-02MTB (C/D)

M6 fixed male fitting

Hope, Magura calipers, Hayes G2 caliper

MTB442-02-M6( )*

Hayes lever female fitting

Hayes Mag lever

MTB6001-02-M8( )*

M8 fixed male fitting

Shimano Deore, HFX9 lever, Magura lever

MTB442-02-M8|( )*

M6 Banjo (thin neck)

Shimano XT / XTR, Hope C2, Formula B4

MTB5091-02-M6( )*

M6x1 banjo bolt

Shimano XT [ XTR, Hope, Formula B4

MTB992-02-M6( )*

M8-M6 adapter

Hayes Mag with G2 caliper

MTB306-M6-M8( )*

M8 swivel male fitting

Shimano Deore, HFX9 lever, Magura lever

MTB442-02-M8( )*SW

Goodridge Yellow Tag

All systems

GTAG-2CB

M6 Nitrile Banjo O-Ring

M6 banjo fittings

OR6X1N170

M6 Washer

All systems

44512 M6 washer

*() add suffix from suffix list

o

PART No. SUFFIX LIST

Example PART No. inc suffix
MTB442-02-M6C (Stainless Steel)
MTB442-02-M6DG (Aluminium-Gold)

Fitting Type
Stainless
suffix = C
Aluminium
suffix = D
Aluminium Fitting Colour
Anodised Red
suffix =R
Anodised Blue
suffix = B
Anodised Black
suffix = K
Anodised Gold
suffix = G

Anodised Silver
suffix = C

oeoe0e



MTB|_catalogue2004_revl 13/9/04 4:08 pm Page 7 $

Hydraulic Brakeline Dealer Kits Hydraulic Brakeline Kits

HYDRAULIC BRAKE DEALER KITS
Small: MTBDK-01SC / Large: MTBDK-01LC

QUANTITY
r—l—-'!-—. PART No. DESCRIPTION SML LRG
‘ 600-02CLG / CB Clear coated hose 20m 40
‘ S E=T -0
' o o RC600-02MTB Collar 30 60

o MTB442-02-M6C M6 x 1 male fixed (Magura, Hope, Hayes) 8 15

H‘ S — -' .-‘ —_— - '--J
y ‘1 MTB442-02-M8C M8 x 0.75 male fixed (Shimano Deore 525) 5 10

C_ = | MTB442-02-M8CSW M8 x 0.75 male swivel (Shimano Deore 525) 5 10

MTB5091-02-M6C M6 Banjo fitting (Hope, Hayes, Grimeca, Shimano XT-755) 8 15

The ideal solution for retail outlets,

containing a selection of MTB fittings . . i

to cover every application, supplied MTB992-02-M6C M6 x1 banjo bolt (Hope, Hayes, Grimeca, Shimano XT-755) 8 15

complete with a roll of high performance

braided hose MTB6001-02-M8C M8 x 0.75 adapter Hayes lever female fitting 5 10

A bly Mandrel

GM100 MTB ssembly Mandre MTB306-M6-M8C M6 male to M8 female adapter (Magura, Hayes) 5 10
44513 M6 copper washer 10 15
GTAG-2CB Goodridge Yellow Tag 16 30

Also available in Aluminium by special request

o



MTB|_catalogue2004_revl 13/9/04 4:08 pm Page 8 $

General Fitting Instructions Hydraulic Brakeline Kits

GENERAL FITTING INSTRUCTIONS ASSEMBLY TIPS FOR SWIVEL M8 MALE WITH ADAPTER (Magura, Hayes - G2 Caliper)

1. Cut hose to suit your system, using sharp cable
cutters or a small hacksaw with sharp blade.
Remove 11.00mm of the outer plastic coating
from each end using a sharp blade knife.

1. Take the M6 adapter (left) and thread the M8
male into it, tighten with spanners. (For M8 swivel
fitting direct to calipers or master cylinders refer
to General Fitting Tips below)

2. Gently push the collar onto the hose, feeding 2. Using an 8mm spanner on the collar, tighten

N

the steel braid into it by rotating the collar as both pieces complete onto the hose as described
< you push it on. \ in (fig. 5).

3. Push the threaded spigot of the fitting into the M 3. Fit the other end of the assembly, and attach to

hose, ensuring that it pushes into the centre bore. the lever. Thread the M6 adapter into the caliper

Turn the hose clockwise to engage the thread by and then tighten the M8 swivel male into this.

hand until the face of the collar reaches the
shoulder of the fitting.

©000000000000000000000000000000000000000000000000000000000000000

4. With an 8mm spanner on the collar, tighten the

fitting in a clockwise direction to engage the second GENERAL FITTING TIPS

locking thread until the face of the collar reaches the

shoulder of the fitting. When fitting a banjo type assembly, fit the non-banjo end first. The banjo end
can then be finally aligned in the last turn of tightening.

5. For banjo fittings, use an 8mm spanner on the collar When fitting a male swivel fitting, screw the male fitting into the caliper or

and insert a screwdriver or bar through the banjo master cylinder to lock it, then fit the hose and collar to the fitting in this posi-

head, tightening the fitting in a clockwise direction to tion.

engage the second locking thread until the face of the

collar reaches the shoulder of the fitting When using 2 fixed males, remove the caliper or master cylinder and screw this
onto the assembly.

6. All banjo fittings require two ‘O’ rings one each side The sleeve may be turned to achieve final alignment.

of the banjo head.

o



